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Unit 0 — Measurement and Geometry Review — Major Test
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Modified True or False (5 KU) (WA &LO LA W—IA} aM 06 cm)

Indicate whether each statement is true or false. If false, change the underlined part to make the séte ent true.

1. _F ‘)</Iath is like a dating service because it’s all about relativism. 2 Change V‘&/&‘[L/ov‘nlfl {D,Q
\
2. F\)/If the side length of a square is tripled, its area is tripled.so&.m I I____| Change: W.uH‘lp led A,"T(
‘)/ : . Az x| A=343=9 7’:
3. _F VA square pyramid has five lateral faces. = Change: ouyv— .,\/
4. F: THe basic elements of math are objections, operations and relationships. Change: D_’)JCC’"S X
hei -
5. F Mgg) is the volume of any cone or cylinder. Change: IP>//‘01’)4)01 \/\/

Multiple Choice (5 KU)
For questions 6 to 10, select the best answer. Write the letter of your choice in the provided blank space.

6. _C “ Acone has avolume of 314.16 cm® and a height of 5 cm. To one decimal place, what is its radius?

5}(600cm YRY 20.0 cm @77cm (@) 120¢m
/35} 3 /) 3ﬂd(77) (5Y=3[0 coi”

A window cleaner has placed an 8-m ladder against a wall. The bottom of the 8m

Iadder is 2 m away from the wall. How high is the top of the ladder, to the nearest tenth
of a metre, above the ground?

2 .2
= 60.0m (b) 6m (@77m ¥ 10m :7(.:323!

/ ar. ’gma’ cnswer wWro 326 2m
8. b A circular swimming pool has a diamez‘ﬁzo m. When filled completely the pool

=

holds exactly 100,000 L of water. To one deciimal place, what is the height of the pool?
f(x(i318.3m qus 3.2m ©O3m }({796m (Hint: 1000 L=1m®)

/ A SR ) —(DOfrA 100 (100000 L =100 m?
9. __C~ Which statement is not true? Th=] [ h= J. 203

7

(2) The sum of the interior angles of a pentagon is 3(1800) .
(b) The sum of the interior angles of a triangle is 180°.
@The sum of the exterior angles of a triangle is 180°.

(d) The sum of the exterior angles of a convex polygon is 360°.

10. '/When a transversal intersects a pair of parallel lines, which of the following is true?
(a) Co-interior angles are supplementary.

(b) Corresponding angles are equal.

(c) Alternate angles are equal.
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Full Solutions/Explanations

11. Sam and Dhanila have a kite-making business that competes with Vyshna’s and Uday’s VUiTon Fashionable Kites.
Their company is called FUNKy Kites because they specialize in oddly-shaped kites. The shape of one of their
funkiest Kites is shown at the right. How much material would be needed to make one of these kites? (6 APP)

L e | ?5 b Z E}/ﬂe Rr’}/l@or@h _Zeovanj 52 cm
L; %J /b 3% < 34 cm
W\ b ./ MEANS = 3P 16
! : ,) AREA .,.I - /’) q@ \/ 20 cm
! ; ' _ ’-—/‘ )
l : N h— 3 20cm WM
0 > Kites
h(ath ) ~
AT"“PeZ"'d - A Square = L

_ 20(52130) = 20@R0)
: IU?ZOQEVWO\ ‘/ = 400 e/
= d A'l-vapezofol qu,uarf’_

= Q1030) + 40O
— A5G0 cm?

12. A picture measures 50 cm by 20 cm. The mat around the picture is 5 cm wide. Find the area of the mat. (4 APP)

AMoﬁ A Pm}wé’/l/ T «~+———50cm R

—_
—
-—

-—
—

-~ — -

30

mvan@b A Sgm- | 20cm [2cm

(0 (30) — 50(a0) I
= %00 - ooo : G
K00 CM T e——50+5+t8 =60 ————>

The MD\'} mrounp\ ’”\_@, PIQ",'W’ﬁ }\OIS an carCaou aél 800 C_mq.
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13. The figure shows a greenhouse roof that is shaped like a half-cylinder.
What is the surface area of the roof? (Don’t include the ends.) (4 APP

The ”amdsnsl\ou ](7'{ not be 1‘nc/u0{€0/ n the sursoce ovea
because Vertical swftces ave. ot cons{a{ereo} part oF the oo T
W, + 201 not-1veluded because

p _ Hhis term vepresents the area
. Af&qof' — Q-'Q/ ot the crvculpy lgqsg_ ond {.OP
_ =2 hecavsy Hhit s
= v h o h“u‘ﬁ_,f-_ eyhnder JQ“ N ‘
:'". 3,)4‘(.%)(30‘)\/ e{‘fs S%oﬁi{i{n‘}'
- Q‘@ch my\ mc ¢

T he surfoce aren of the V‘Odjc 's aboit RELLm

14. Find the measures of each angle labelled with a letter. In each case, state your reasoning. (4 APP)

Measure of . D
Angle Reasoning (State Why)

= 115° | 4405°=130° [; P p 50
Z0EF = (57 hense. ISDEF

b= 6750 |:$ 1503061603 Ig\ V/ Y
‘. b=C5
' , d
g’ | Mmoo of & s
Sy C+65°+ (5 = 18D . o o
LACE = 189°~115°=65° (supp- £ 57 |/ Ju68° Jgs® ysh\al'® n

d= 3,6

. >
43&50*60 (exkrior cmg,le of ) B E G F
15. Elisa wants to pack CD cases into a storage box. What is the largest ! fm Q 275 cm
number of CD cases that she can pack jnsjdg’the box? Explain your T: ¥
reasoning. (6 TIPS) & Six CDs can be 14 cm—]

-

arronged og shO‘W’l in 1 diag vim
and jus:(' it inside Hha box with
VEry Little room to Spaye.

® Since tha CDs are | em Hhick
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Therefore  the boox
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16. Andy’s Pizza has two special pizza deals in honour of crazy celebrities. The Lady Gaga Saucy Special Pizza has an

area of 1000 cm? and sells for $19.50. The Miley Cyrus Spicy Twerking Pizza has a radius 1.5 times that of the Lady
Gaga Pizza. How much should Andy charge for the Miley Cyrus Pizza? (6 TIPS)

ormatinn

AGay\ = IOOO c,w?\

S gy = 150178

N #)
|‘Q\

. 2
S Aoy = T(Q76)
/ = AR50 (:VIA:g

.. AM D AR50
\“ep, = =7
p‘aaaa 1000 4 25\/

This means that The [Mile, piz2a is about Q.25 ”
lavger than The Gago Pizw'/ e

Acwr()’}@)y) ‘MQ, M,'/g)/ Pz‘zza SZLW}C/ be Q»Qg'é’;%@
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